yﬁééﬁsr—gw 45 18D KEr 44

MHE £V | ER T ZFR

EERFED -

EIHA:
a
“lE

LA

(14 E2R31 B 6%~

1 3184 d N3 trmeeeppk > 0 24 "
_— pes T4 ot R R s
PR R L EL A M e [ e g
i3 A 3 4 PR T
EARE . AL P EEE  FUR A
T TR g | OEEFT  DdEy
_— — & g L . 4
W2 B AL b R R g P =0T .if%fai
] S EEE dGpEaEs e | % .Tﬁ%i .ﬁ el
21 > Y o Epehd BETIoAEF B | g ‘ i ’m, ”_
" fo o | LfemE > Cpr % i
3. BARAPEEFL F2LY R e A
L "/\)&l’?ﬁ*/i‘i’v e 4 o R %ngﬁ;gu iR
A+
L FT T adp B 0 -
SRR R A OFpd 2 a2 ()
s L B g 2 IR B ki L e ,gﬁmygmﬁgﬁﬁ .
@A>2.%%§iﬁ§&%ﬁﬁ4’vg FEE 2 fRAR AL o
/U\
3. AP ¥ 2 FABBEMER PHE AL AREDE G BAPFTEL -
1. 4l %mﬁwqﬁ DR R ehimte B4 H Bk A i 2 D o
2. B HET AOER E PG IR AR R PETR R eE R KRR PEE KL
w5 i fi’;’% a e o _ ‘ ,
one 3. a‘ﬁ;ﬁ%}é" A A MBS L R e Y BB Fr ol R i R4l 5k e e
);_2 #¢ % q-/l A &}é_}ﬁé q_‘f\_"%' &}é_}ﬁé e Rl
e 4, SR E O DS I NEP RS BT R o 02§ w AR 2 T ow AR
o i
5, AMap I st AAIMEE I BLEBY T EE Y PRIT .
6. FRnd e FAE T Uy r’}‘fr—é r_}__mi;_gl XA MR KBRS T auk

A2 o

1B

D%
AT

lE"élF. F%q:é‘_ N %’; ‘J’/r' &_

:"\: 2 21 3

41%

2-? ¥R 10%

3.0 % 1 109

4iﬁf-wy
R %A 1 10%

il
S

ﬂ"%’ﬁ WA GRFniradhanE- 0 30 52 24 Hep
2. MGREF HREAR > EF 2RI RAOPEAT 2 oA DY

ﬁ; F\: ‘?}\mﬂb

4 o

S
EX
fee
FIH

1.
2.

FHrBA LR A EEHR O MNFEL AR IEE > PERAF LA EwR A o
L EER o) SR




—
soRCamgno g

WEES SRR £ EX F_-_Ex KFER4
) | 29 "
PO I I e e el KEER L
1-1 |- p74f %% 9/1REp
VAR ]C e
1-3 Bl A4H 4% 9/8-9 % - Z Y (B =)
sl 2 |7]8]9|10/12]12]13 -4 A
R PRalvEE) 1-1 EiYac 2 FHPEaH &S (9/20 5 fep
3 |14|15|16|17|18| 19|20 X -
FrraH R
2-1 D BB
4 |21|22(23|24|25|26]27 py
e |sala9ls0l 1|2 |34 2-3 [y 9/28-29 kv & (29 4t )
2-4 HEtH
BealEE) 2-1 g ST ig s 10/6 # #& &
r L - B [z oy A [T b 10/10 W& p
+| 6 |s|6|7|8|910]11 ?1:3]‘{%@]22@}1@&%%_%5_@
A PRaT s E) 2-3 AU HE e ZES 5
B 7E AR R RS A )
7 | 12|13 |14 |15 16|17 | 18 |3-1 FHEEERE A HE LO/LAL5 3 - = %5
= | == = SHERTVENT R 10/18 % - = # pl ¥ Fp1 %
8 |19 20|21 |22 23 24| 25 [3-2 SRS RUE 10/24-25 %4 & (24 W )
s 10/29-30 % - = 2 (& =)
9 |26]27 (2829|3031 | 1 [3-3 HRLLANRIEIEH R s
_I_
10 2|3 |4|5]|6| 7|8 [3-4MHKELGEIEHE
B | 11 | 9 | 10|11 | 12|13 |14 | 15 |4-1 2= AR HOE A AT
12 | 16|17 |18 (19|20 21|22 |4-2 BRENAVIEE
13 | 23|24 |25 |26 27|28 | 29 |4-3 ;2 H AELHAEAY/E 11/25-26 % = = 2.4
. 14 |30 1| 2|3 |4 |56 [5-1 A%

. 12/9-10 % = < g% (% =)
= |15 |7]8|9|10/11/12]|13 5-25ffE 12/13 5 = = % 2| % B b %
H| 16 |14 |15|16|17 | 18|19 | 20 |5-3 FRyE i

17 | 21|22|23|24 |25 26|27 [¥EHESE) 5-1 MUK S E 12/25 =g & & p
6-1 i FHIFZ R
e 12/30-31 % = = 2.4 (% =
18 |28|20(30|31| 1| 2 | 3 |[panEdy 61 By TR |00 L o )
4
— 6-2 7 KB HLIRRREE S
19 |4 |5 |6 |7|8]|9]10 o "
H 6-3 4= FE B E2 11 e FH Bl B
PRaTVEE) 6-2 BfYRG 2 PSS (1/17-19 Frl
20 | 11112113 14115116 |17 |y /161920 %= % 24 (% - =)
21 |18 | 19| 20 | 211 22 | 23 | 24 (1/21-23 # = + 51+ (i 2/11-

13))




